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Comprehension :

The following table embodies the details about the
enrollment of students in five different streams
namely IT, Management, Commerce, Science and
Arts in a college during the session 2019-20. A total
number of 3500 students including 1500 girls have
been enrolled in the college. Based on the data in the
table, answer the questions 1-5. o

T 2019-20 <k A Uk Hglfaamad § ura fafiar=
fawat o At g, wee, arursH, fasm=a oo
ot ® feeteat —aa a’rﬁgﬁ aa GCIRELSISIECE

5 9ok ohT 3O ST —

Tfarsar—a faenfstat et
Stream Percentage (%) of | Percentage (%) of
fare=r students enrolled /[ Girls enrolled (
(out of 3500) of 1500)
J SREET A T EUiCl A T

(%) (3500 /), | (%) (1500 F #)

/
ITREZE YV, (20 ) 18%
Managemen 16% @
TarerT —_—

Commerce 12% 21%
Science/TaFTT 229, 11%

Arts/eacTl 30% 38%

What is the total number of boys enrolled in
Management stream and I'T stream together?

JaeA T ae g2l fawa ¥ U | agahi
& FHer T A 2 T
(a) 1050 (b) 810
(c) 1120 J (d) 980




Comprehension :

The following table embodies the details about the
enrollment of students in five different streams
namely IT, Management, Commerce, Science and
Arts in a college during the session 2019-20. A total
number of 3500 students including 1500 girls have
been enrolled in the college. Based on the data in the
table, answer the questions 1-5. L

o 2019-20 <k Teh o uiwr fafar=

fawen o rfra e, yeuw, arfurear, famma e
e O faenfdat o giaer o fawa @ fatafaa
arferert W faawur faw 7@ &1 1500 =R w@iga
ferenfafat &t @er H@Eam 3500 w1 mETaETeS B Siias
TeRaT T ATfeTeRT oh 2TTehSl o TR UX Wy T 1-
5 Teh R SOY aifeig—

fasa—am faenfat=t =r

Stream Percentage (%) of | Percentage (%) of
students enrolled Girls enrolled (out
(out of 3500) of 1500)
TG o aTet | SiRaeT &+ aret
Taremfaat et giaeTa St e/t wiaeTe
(%) (3500 § /) | (%) (1500 & &)
1T/3TMg 21 20% 18%
Management 16% 12%
TererT
Commerce 12% 21%
. G ;
Science/TazITA w 11%
Arts/SReTT 30% (38%)

(1

What is the ratio of the number of girls
enrolled in Arts to the number of boys enrolled
in science?

TR sl AT T T 3IJUT 87
(b) 2:3

(a) 14:23
(c) 114:121

for 4 et 21 ATt TTgehi aht T | ahell § ’




Comprehension :

The following table embodies the details about the
enrollment of students in five different streams
namely IT, Management, Commerce, Science and
Arts in a college during the session 2019-20. A total
number of 3500 students including 1500 girls have
been enrolled in the college. Based on the data in the
table, answer the questions 1-5.

| 2019-20 ok IR Uk HETaEnord H urer fata=
ﬁuﬁﬁw&ma@ﬁ.,m,m,mw
& o faenfafen o giflger o faga @ fa=fafaa
arfetert W fogeor fauw 7w &1 1500 =R wiga
Taenfefat &t or AT 3500 hT HETTETES H grige
Teram T arfeTeRt o STTeRST o STAT U W9 | |-

5 dah ohT 3T SifsTa— /
faaor—am faenfei=t e r
Stream Percentage (%) of | Percentage (%) of
students enrolled Girls enrolled (out
(out of 3500) of 1500)
o g9 | SiEer | are
Tarentsiat et wfaeTa STt @t wiaerE
(%) (3500 § &) | (%) (1500 & )
IT/2T2 2t 20% 18%
Management 16% 12%
VERCE] y
Commerce\/ 12% 21%
bl FZ
Science/TaFTT 22% 11%
Arts/chcl 30% %

What is the total number of girls enrolled in
Science and Commerce streams together?

fasm= wg anforsar faw=t ® w9t Siiae 8=
aTeht TTefwat & wor wveaT feRat §72

(a) 450 —— (b)_495
(c) 345 (@ 489\/

™ AN AI/AA™I™e™S 40 /~AA2AI NI

T IIN\/




Comprehension :

The following table embodies the details about the
enrollment of students in five different streams
namely IT, Management, Commerce, Science and
Arts in a college during the session 2019-20. A total
number of 3500 students including 1500 girls have
been enrolled in the college. Based on the data in the
table, answer the questions 1-5. .

|T 2019-20 o SN Wk Wgligenad ® Ui fafa—=
fawant & amfua e ., Weuw, arfursw, fasma e
HT H faenfafat o Ifaar & fasa 7 feafafaa
arfereRt W faerur fau_am &) 1500 o= w@fgw
ferenfstat =t et @ TgttaaTes o

TemaT IT2m| ATfeTeRT o 3TTehal oh AT UT Wy H3ET 1-
5 ek okl 3T Sl —
faoar—ar feanfafat wr
Stream Percentage (%) of | Percentage (%) of
tudents enrolled Girls epraded (ou
i (out of 3500) | = ¢ 0 t
TRGFAT A AT | STRFT o aret
ICEUR IR IGMGIEIEIC IR AR IS MG
(%) (3500 T ) | (%) (1500 & ®)
IT/3Tg 21 20% 18%
Management 16% 12%
TaerT 3
Commerce 12% 21%
CULS] ‘/[/
Science/TaATA 22% V| 11%
Arts/SReT 30% ~ \38%

The number of girls enrolled in Arts, Science
and Commerce streams together forms what
percent (%) of total number of students in the
college"

, Tasm= qor arfirer & SiRgar aa arelt
mﬁmmmﬁwmﬁ
aﬁamm—ﬁrﬁm'—cm
(a)20%
(c) 40%




Which level of teaching uses higher level 0f-®
cognitive abilities as specified in Bloom's

taxonomy?

TITTUT T HIA-T W oh afeRUT o= o
T TfdE WFHTHS TTAAT SRl WART ST §7
(a) Memory level/Hfd &

(b) Understanding level/3T@@iy &

(c) Reflective level/fameff T~
(d) Autonomous development level/ER fadhr &




The teaching strategy which will be best suited @
to deal with students who 1n terms of
performance readiness level are in the category

of 'able but unwilling', will be :

foreTeT qeataTeR 'wU W S fEme ‘mem
W fregd’ O W § 3% fIU Helitue

IUTh ftarr TUrhfer @rg Bt

(a) Assigning challenglng tasks and delegation of
roles/gAGYUl  HE &M qfeprsi
gfdfefee e

(byInvolving 1n tasks and providing socio-
emotional support with scope for recognition
010 e 1 O S S S E P R RS G

ﬁvﬂ?lﬁ TEdH fhT T oS gl &M &l
Mentor ing and guiding with close su %%_I‘;’ISIOH

& Y WY Te fewm-

(d) Kee ing the tasks specific and easy
Eb‘rﬁfpaﬁ fafyTy 3§ WA ST T




Given below are two statements:

Hir=r =r s fag 1o &:

Statement/<[R20— (1) :

In a classroom assessment, a teacher finds that the
distribution of students score i1s positively skewed.

Hence the mean of scores will be greater than the
median and median will be greater than the mode

\f":&-'l'[ godish= H f¥meiss =1 sa @ar @ fos faenfef=ai &

3iepi =1 faaor S=emss 9 9 fasg @1 339: 39=n1
=HT HIE", HNSHAh! H ATeeh s 391X H"@ifegsht A=
Sgcish 9 3Aferss |
Statement/<qRh=1 (11) :
When the distribution of students score 1s found to

be normal, then all the three measures of central
tendency coincide

\ si= faenfef=i & sist =1 faaser 9= 9r=r Sar 8 ar

H=i= sgfa & T 97 =1 99 ' & 89 &

In the light of the above statements, choose the

most appropriate answer from the options

given below :

IuHd ek ahaAl oh 3ATelleh W A faiiaa faaeeal o

o maitares Sugaa SS9 =3I -

W Both statement I and Statement Il are correct
S 1 37T 11 <=1 98T 21

(b) Both statement 1 and statement Il are
incorrect/&hg= I 31X 11 Si491 I8 9281 © |

(c) Statement I 1s correct but statement II 1s
incorrect/=HaI= 1 9&T & fohg =ho= 11 W1 =T 21

(d) Statement 1 is incorrect but statement II is

correct/sH9= 1 I&F &1 2 fSha === 11 921 21




Which of the following research focuses on

enhancing the corpus of knowledge in a given
field?

frefafaa @ | s a1 srgdae feadt fag T

& W JT oh SIS | Qleg ohidl g7

(a) Action Research/fshacish 3T HeT D \%
(b) Applied Research/agd .C-Hj%i'ald —

(c) Evaluative Research/HcdlehdlcHeh HAJHETH

\)d’)’ Fundamental Research/HIfcieh 3T

_
h\'\ {:\/"A
v \




Which of the following research method

employs internal and external criticism for
analysis of evidences and data? O

Td 3fichgl o fayewur gq fA=feiaa
® W sduE fafr § ariaRe ww @l
WWWWW%
(a) Ex post facto method/&TARR %f@T %

(d) Descriptive surv surve

ﬁatmmué‘w%fﬁ




Identify the key features of qualitative _— \%S

research: . -
T ITEUT F UG LU @ uge (“‘/
\/EA) Actual settings as the source of data .
3Thel o €I & &9 H arcias gREgfar

(B) Control, observe and measure as main
operations/q&4 Hfsharsii & &g H faFwy,
3Tacih Td 3U

C) Data takes the forms of word or pictures
3ifhe, visal Ug fHEi o &9 od 2|

\Wormation of hypothesis and testing of
hypothesis.

RehedT a1 a7 Ufiehed=T sl G4eTuT AT
(E) Hypothesis making and hypothesis testing.
qfieheqdT o fHioT ug gdieqor

In the light of the above statements, choose the
correct answer from the options given below : _
<h éa

(a) (A), (C) and (D) only/&ad (A), (C) 3R (D)
®) (A). (B)and (C) only/sad (A), (B) 31X (C)
(¢) (B), (C) and (D) only/&ad (B), (C) 3 (D)
(d) (C), (D) and (E) only/&dad (C), (D) 31 (E)




labelled as Assertion (A) and the other is
Ilabelled as Reason (R):

fr=r hera feuw Tt € fS=a ¥ uwaks <ht
2ITHRTT (A) 21T THY <kl Ik (R) ShaT 1T 21
Assertion/3IT3TaharT (A) :

Research ethics and i1ts observance 1s necessary 1n /
the interest of credibility and quality of research N\

I TR 3L SHhT qreT_ ¥ oher S famgaradr 3L
ToTSET_Sh =+ fore smmavass 2
Reason/ﬁiﬁ (R) :

The policy making bodies have to be accountable /

Given below are two statements: One lsq\‘\ >

for pursuing research with an eye on promoting

excellence/AIfa fagai=s [ ShT TuTal_daea St
gz O 3ny g foag S g =faw

In the light of the above statements choose the
correct answer. from the options given below:
SATATSh P Pt

g~k oheldl oh

= €Sugh S9¥ I

( Both (A) and (R) are true and (R) 1s the
correct explanation of (A)/(A) 3T (R) =40
el E ST (R (A) T GEl T B

(b) Both (A) and (R) are true but (R) 1s NOT the
correct explanation of (A)/(A) 3T (R) =41

T € 95 (R), (A) I & =3 =87 21

(c) (A) is true but (R) 1s false
(A) IET 2 9 (R) 9T =&T 21

(d) (A) 1s false but (R) 1s true
(A) TG& 87 @ g (R) T 21




A reéeércher intendsutd ﬁnd out the differences
in motivational outlook of first degree level
students in terms of their belongingness to
rural/urban areas and the educational status of
parents. What will be the dependent variable in
this study? )
U INeehat g feaft @y o faenfofan =t
ek ST U Py ITch TTeitur/gredt
3T 3 sTfirwTaent 3 e W 7

T I AT orgdT g1 df 39 3emaT o iy
oI o 2

am—

(a) Belongingness to rural/urban areas

3T I/ IR &

(b) First degree level/99H il &
(¢) Educational status of parents

ARTTIHRT HT TfRTF T
(d) Motivational outlook/3TTRUT 3Tfgh




Identify the correct sequence of the following _ /
elements iIn the latter art of the

communication process after (dec odlng D

feamifET o Tt WUwuT wiehen wE oy ok

U &Y ) ("‘
/

(A) Environment/dTdrelur  (B) Feedback/®%Igsa Guwak

(C) Context/TaH (D) Interference/=TaT mﬂ»"(
Choose the correct answer from the options ,LVJ

C

given below:

et for T Fraet v /Wx
(a) (A), (B), (C), (D)  (b) (B),(C), (D), (A) %
(¢) (C), (D), (A), (B) . Ad) (B), (A), (C), (D) Jé¢

— \/%




Match List I with List I1:

G- 1 sht T -11 o ATeT GHfAT Shilsg,

q
H)

List/¥=t-1 List/g=-11
(Type of medla// (Example/33T&IU0T)
Hifear & Ueh) —

(A) [Synchronous (I) |Application of
media Multi-media
THhIfAh AETH / e T-Hifear 0

\ / ST —

(B) |Asynchrono\s (IT) |Interactive multi-
media media
3TqTHIAS faferarTsh qedi-
HTeH Hifg=ar

(C) [Rich media A \ (IM) |[E-mail/Z-a<=
eI \ —_——

(D) [Hyper media | |(IV) |[Telephone/3XaT™

areayq =

Choose the correct answer from the options

given below:

frafafae faemreat @ 9 &t s=x g

(a) (A)-(1), (B)-(ID), (C)-(I1I), (D)-(1V)
(b) (A)-(IV), (B)-(IID), (C)-(1I), (D)-(I)

4

(©) (A)-(D), (B)-IV), (O)-(, (D)-(1h)
(d) (A)-(IID), (B)-(I), (C)~(IV), (D)-(11)

—




'~

Which of the foll();ving are contributive to \
positive influence on teacher-student

communication?
3reATUeh - ferameff wwiwur & weier ® forafeiaa
T ¥ HH-1 TN T § aRTE oo 87
(A) Making assumptions/Ar=rar fHHfd
(B) Limited interaction/Siad 3id:fshar

ngtering a sense of belongingness

daldd onl HidAl ol

\(}}‘f Acknowledging participation
ST ol TRl

\/{'é) Persuasive attitude/3 T (IR

Choose the most appropriate answer form the |
options given below:

fosr TS vt W W SN AT
(a) (A), (B), (C) only/FTet (A), (B), (C)
(b) (B), (C), (D) only/3a (B), (C), (D)
(©) (C). (D), (E) only/3= (C), (D), (E)
(@) (A), (D), (E) only/&ae (A), (D), (E)




A pipe normally fills a tank in 12 hours. but
due to a leak, it takes 8 hours more. If the tank
is full how many hours will the leak take to
empty it?

TUeh UTST Ueh Sah ohl MAAR UT(12 ¥ei o W
AT 1 U fotehst ot aoTg @ 3H 9 H(8)uie
AR T &1 AT ek YT §AT &I o Tetehst aht

wﬁsﬁ@ﬁgﬁﬁmmﬁ

a (b) 22
((0)30)/ (d)33/@




\\Vila_t-is the remainder wiién _64 divides 1671?
1671 & 64 ¥ fawifya &= W feRa=T o

(a) 4

© 6 WD
\(,'n /(b(j

1 )

e ?
W)




Given below are two propositions :

For g ol e
All philosophers are fallible. /2 Zsif armem 1 3~
Hegel is not fallible. /&t e T 2| Vv

In the classical square of opposition. which one
of the following is the correct option for this ?

fertier o aemfirent ot & gEeh fore freforiae

U ¥ %41 forehey % .
2) Contrary/fqudfar ‘/

(b) Sub contrary/39-
(c) Contradlctory/a‘ﬂﬁlﬁ
(d) Subaltern/3mdt (Fa3eeH)




In the classical square of opposition which one
of the following is the correct option ?

fotir o aeTTiicht O | 30k T

# ¥ ®-91 faseT TE §: @
(a) Subaltern/3urgil (Ha3Tee)

(b) Contradictory/ATdl

(c) Contrary/faudiards Q
(d) Sub-contrary/39-faudidreies Q’}a




Miteh List Iwith List 1 2
Teit-1 hl G- 11 Gafera ity

List/a=i-1 List/g=i-11 "\
(Concept/3TTEIUM) (Philosopher
EANIEED)

(A) Causality is apriori ) Aristotle/3TT&]

(B) Causality is syntheti (1) Hegel/gITed

HROTAT 5T 2 |
(D) Causality 1s materi

HIOTAT Wi 2 |

Choose the correct answer from the options
given below

e fau v fasmeal o @ WE ST AT AT hi:
(a) (A)-(11D), (B)-(1), (C)-(IV), (D)-(11I)

(b) (A)-(IV), (B)-(I1), (C)-(I1), (D)-(I)

(¢) (A)-(D), (B)-(IV), (C)-(11I), (D)-(1I)

(d) (A)-(I1I), (B)-(D), (C)-(1D), (D)-(1V)




CDMA stands for
T (CDMA) &1 areas §: 20

—_—
(a) Code Division Multiplexed Access

Fie fedioq A iwiate Ty
J/b) Code Division Multiple Access
Hie fedeH Iediud taeyg
(¢) Code Division Mobile Access

Fie fedis AeEd Ty
(d) Code Division Mobile Adapter

m%—qﬁmﬁaﬁam




In display technology, CRT stands for @
femer SaTarst o, WY 31 & o1 arcud §

(a) Cathode Ray Transmission/&ais 3 ZiafisH
(b) Computer Ray Transmission/&H@eX I ZGHgH

(c) Cathode Ray Tube/&aTE I g4 / @

(d) Cathode Ray Transducer/&aTE TSI

y\;n,
wj” |




Match List I with List I1.

geli-1 ot geft-11 9 gafed st

“;

List/g=it-1
(7<)

List/A=i-11
(3STEX)

(A)

Web 2.0

Applications
i 2.0 TRy

})

Windows 8, 1-OS
faer 8, amE-3n ww

(B)

Search Engines/ )

(II)

C++, Java/Sidl

(©)

Td g9
System Softwgr )

Blogs, Twitter .

(D)

High (evel
languages
FRSENRYIES

(111
N

)

Google, Yahoo
c\l 1|’ q@\

Choose the correct answer from the options
given below :

et feg T fawedt § € € ST I

(a) (A)-(IV), (B)-(I1D), (C)-(I), (D)-(II)
(b) (A)-(I1D). (B)-(IV), (C)-(), (D)~(I1).

(©) (A)-(I), (B)-(TI), (C)-(IV), (D)-(IT)
(d) (A)-(IV), (B)-(D), (C)-(I1I), (D)-(II)




Which of the following statements are true? (a) (A) and (B) Only/%ﬁ (A) 3:ﬁ1 (B)

frafafed § @ S 9 ®uT T §2 (b) (A), (B) and (D) only/&aa (A), (B) 3R (D)
(A) An algorithm may produce no output (¢c) (C) and (D) Only/%?'f (C) 3T (D)
TS TNRGH HE MPYE & & Tehl 7| 3
) An algorithm expressed in a programmir._ dy'(B) and (C nly (B) 3ﬁ—{ (©)

language 1s called a computer program o¥
FIfT deos § ot Teien @l $Eet
ST gl STl 3 |

) An algorithm 1s expressed 1n a graphical form

known as flowchart/IT®h & &9 H 3Afemh )" A ﬁ" \/
TAETREH & Tl a2 el A 3 | \b\"':QL

(D) An algorithm can have infinite sequence of
instructions/Tsh TNREH H ﬂﬂé’?ﬁ CANC e
ShT BT Hehell & |

Choose the correct answer from the options
given below :

St faer T feraent 1 W WA 3R T




&

\/ Exposure to excessive noise pollution can cause x—u\’ ——
IUE eaf Yguur U erenfafgd W whid ﬁ @

HNOTE ThA €7
\/('A) Hearing 1mpalrment/%1?=l'UT L AQ
\gf Insomnia/3TsT
) Rise in blood pressure/Tthd™ g &

(D) Respiratory disease/Iada Taell T

\(F) Reduced work efficiency/&&&adr &1 RSIGI

Choose the most appropriate answer from the
options given below :
o et T ferawedt B A T S SR
() (A), (C), (E) only/&&e (A), (C) 3R (E)
(b) (A), (C), (D) only/&ad (A), (C) 3R (D)
(¢) (B), (C) and (E) only/&aa (B), (C) 3R (E)
(P (A), (B), (C) and (E) only
HId (A). (B). (C) 3R (E)




In Photo Voltaic SyStem (PV-system) arrangei%u >

the following from smallest to the largest unit . l/
WehToT-Tawradr  QuTTet (d‘raﬁ e+,
Prafafiad 1 o0 O & WeW a9 TEE)EF  uo

- ¢
HA | TR @9 \ L
(A) Module/diggd (B) Arrayf@
(C) Solar cell/ﬁi o (D) Array field/TX &= \

Choose the correct answer from the options \l(,}%/
given below :

Hror R T oot § @ T st — 14 ELL >
(a) (B), (D), (A),(C)  (b) (B), (D), (O), (A)
(©) (©),(B),(D),(A) (@) (C),(A),(B), (D) )




Match List I with List 11 :
T=i-1 st 9=i-11 & gofaa Siftsg ( b w_
List/Q=-1 List/3=t-11 Q, —

/ (International Provisions/ QT
Ny Agreements/ ' ) 4‘1’?/
augie gusE) E— M 2.0
(A) |Montreal (ID) [Clean affordable
\/ Protocol energy —_— D
e 1 e & el Y/
(B) [Kyoto Protocol ) |Controlling
/ Eﬂgiél consumption and >
\ roduction of Halon
e ot fAEfa
i Sh{AT .
f?f Convention oh |[(IN) [Emission trading
Biodiversity IS AR
Sta fafgear 9g
, |
y) International | V) |[Clearing House Solar
\ solar Alliance Mechanism [
' FAAGT  BRE  GieR
TAH gohfasy

Choose the correct answer from the options
given below : L
o= 1 fasheat O @ W 397 Ii=u:
(a) (A)-(IV), (B)-(II), (C)-(1II), (D)-(I)
(b) (A)-(I1I), (B)-(I), (C)-(I1I), (D)-(IV)
(c) (A)-ID), (B)-(1), (C)-(IV), (D)-(I1I)
(d) (A)-(ID), (B)-(11I), (C)-(1V), (D)-(I)




Match List I with List II :

Tolt-1 31 Gl -11 @ gART Ff (a) (A)-(1), (B)-(I11), (C)-(IV), (D)~(11)

(ToxicL allt?dci{a;zll)rdous (Ml;ljstfr Eourlcles) ((b; Ei;-Eﬂi)(]zzgglgi})(C()(;()H(},I)([zgglzg
substances _ _ C % : u , . L %

N e w47 Jedis geg | N9 (A)-(ID), (B)-1), (CHIV), (D)-(1D)

foee Faze\  / IAfFEh
(B) |Polychlorinated (II) |Fuel combustion

biphenyls gPCB S99 T

TS fthATS o
(dY =t &)

(C) [Benzo(a)pyrene l\{l) Plastic  Industrial

aSi (T) TR uses/®AMEEH__ hl
SAtEfies ST
(D) |Polycyeclic / IV) |Waste Incineration
Aromatic 37UfRTE iR uT
Hydrocarbons
SIS IEE G ED N
TAfes gESihE

Choose the correct answer from the options
given below :

e fau 7y fasheat o @ W& 3T T T




In which yéar, All India Council for Technical
Education was set up as a statutory body by an
Act of Parliament?

frafafiaa @ 9 fovg a9 O 44 o Irf—=m
m@wmﬁm%wﬁa:ﬁawwc

(a) 1986 ((b) 1987 )

(c) 1988 (d) 1989




kg
Helping individuals and social values,

contributes to development of : —
TSR gedi ohl TRUT oA W SAfTRAl SN

T TUET AT GETadT e anTE wﬂ’r@ \/
T

(a) Environmental awareness/J31aXUiI S&ah]

(b) Environmental knowledge/Taia¥uiia = @
(¢c) Environmental attitude/Jaa<uita aﬁqq\ﬁ/ ( &:\ )

(d) Environmental skills/TaTaRug HIerel \/

o

_




